Leuze

Technical data sheet
Mounting plate

Part no.: 50142904
BTX 025M-W23

Contents

- Technical data
- Dimensioned drawings

For lllustration purposes only

We reserve the right to make technical
Leuze electronic GmbH + Co. KG info@leuze.com * www.leuze.com changes
The Sensor People In der Braike 1, D-73277 Owen/Germany ~ Phone: +49 7021 573-0 « Fax: +49 7021 573-199  eng * 2025-04-06 12



Mounting plate ¢ Part no.: 50142904 « BTX 025M-W23

Technical data

Basic data

Contains

Suitable for product group
Suitable for

Mechanical data

Net weight

Housing color

Design of mounting device
Type of fastening, at system

Type of fastening, at device

Material
Shock absorber

2 M3 x 20 screws

2 M5 x 16 screws

2x M4 x 25 screw

2x M5 mounting nut

2x washers with @ 3,2 mm each
2x washers with @ 4,3 mm each
Switching sensors, cubic

15 series sensors

25C series sensors

46C series sensors

46 g

Silver

Mounting plate

Suited for M5 screws
Through-hole mounting
Screw type

Suited for M3 screws
Suited for M4 screws
Metal, aluminum

No

Dimensioned drawings

All dimensions in millimeters

@53 @43
(3%) (3x)
o O [e)) O
wn (28] (] — ~
5
‘ —- -
sty 09 s
61/ -6 10
14
iz
sIs
\ \ \
©%
=8 |
- 40
\
\
\
66 ©- A
I \}4 70
o D—-—6—
82 L
O ~ O
< o~

Leuze electronic GmbH + Co. KG

Classification

Customs tariff number

ECLASS 5.1.4
ECLASS 8.0
ECLASS 9.0
ECLASS 10.0
ECLASS 11.0
ECLASS 12.0
ECLASS 13.0
ECLASS 14.0
ECLASS 15.0
ETIM 5.0
ETIM 6.0
ETIM 7.0
ETIM 8.0
ETIM 9.0
ETIM 10.0

info@leuze.com * www.leuze.com

Leuze

83024900
27279202
27279202
27273701
27273701
27273701
27273701
27273701
27273701
27273701
EC002498
EC003015
EC003015
EC003015
EC003015
EC003015

We reserve the right to make technical
changes

The Sensor People In der Braike 1, D-73277 Owen/Germany ~ Phone: +49 7021 573-0 « Fax: +49 7021 573-199  eng * 2025-04-06

2/2



